Topic:- General Hindi

1) AR @ S a=mtRr B
1. GE BT

2. dY BHId

3. Hiddl

4, e BTH

Correct Answer :-

2) “faur ufvue> B 3o § =T Ped 82
1. LEGAL ASSEMBLY

2. STATE ASSEMBLY

3. LEGISLATIVE ASSEMBLE

4, LEGISLATIVE COUNCIL

Correct Answer :-

« LEGISLATIVE COUNCIL

3) Fer ®1 faav T &:
1. GR=aT

2. WRfar

3. §S%



Correct Answer :-

4) ‘3T B Wl dlelt & T HEd o
1, SCHAT, AT B & AT

2. T ARBR T, Ul G o Tl

3. YT HRER qeT, hepT STl

4. FCHT YRR T, URaT Gah o T

Correct Answer :-

« CHT ARG T, YR G o T

5) gu I3 A HiI W Farg a1 1R &), 98 @ TR At w1 31 suarm A Ut w1 &
fore gl geTar &1 Farsu

1. g 1y
2. THET BT hER
3. Tt &1 gaan
4, DS BT I«

Correct Answer :-

3. P IARd
4. FR1®HM

Correct Answer :-

7) S99 A DI AT BT, HETHTH 82
1. HETHRd
2. JRIERT



3.a
4, AT

Correct Answer :-

« HelHRd

8) fafefea firy arey &1 e area g
il HHTY e WL 1>

1. BT BB TRATT|

2. HTH DA gl WRAT|

3. HHT el QIR

4, WA 51 BTH D aTe |

Correct Answer :-

« HHM gl QR

9) Frufeiad e are &1 fry a1 gRm:
«<grge! faendf awa gid &1

1. e faemff wa g 1 51

2. e faemeff 8 8 $IR 9l 81 9wa 8ld 5 |
3. e 3R gd faendf o= B B

4. S Ared! foerif 8id ©, 9 8 9T 81 § |

Correct Answer :-

. ol ured faemif gid &, 9 8t 9w a BId 5

10) g ufeaai H ST AT 22

TRI 79 3Fd Hgi g& UTd |
oI 3fS wieT ®t Ul gf SieTe T sra il

1. QA
2. R
3. Yida |
4. AR F

Correct Answer :-



11) Ui gr Fr AR PN :

1. &, HHSAT
2. BN, Toell

3. 3radt, g

4. FmTet, ARETS!

Correct Answer :-

. Tl goel

12) R¥ye 3k Tars @1 o fora:

1. Ry o1 Hrd 3iR Amal a1 urg o1 <t
2. Ry ®1 ot SR TSt A urg Pt el
3. RreH &1 7=iF iR dawet ar urg &t el
4. I ST B IR AH Sl a1 U1g BT et

Correct Answer :-

« Ry &1 FR IR awmel a1 urg it el
13) WY 3R TRu™ &1 33 §:

1. 3T 3R I

2. T 3R a1

3. T IR Hal

4, N 3R T

Correct Answer :-

. T 3R T

14) I BT ATH F13T:

IR a9 B IE TR gt

R 3ad W eiftres a7 BT R, TR
3R 3ud ot 3iftre g1 ula &Y SieiR, I
1. YR



2. THT T
3. Higa T
4,539

Correct Answer :-

15) w@%awwﬁmﬁ%a@v%aﬁmﬁwwﬁmﬁ
|

1. fereeitop=or a1 Hamur
2. i&diehRur a1 Jemor
3. H&YUT AT GHKANBRUT
4, TCAG 7 T

Correct Answer :-

. Yfredieor ar Jamu

16) =t arrur & famae Ay # @ fewe s anf 32
1. G&uu

2. lpIfckT

3. Ueeldd

4, gETaR

Correct Answer :-

17) 3APR BT TH Id1C:

&1 qafe 7 Afcran, 59 fém antt afv
3T & Td BT U, Bler digl a1
1. TR PR

2. AN SABR

3. ¥dE SABR

4. YifdHT bR

Correct Answer :-



18) 3PN T ATH IdIU:

@1 gH 81 59 3 Tl g gt ot forag a=a |
foraR weTaa § g9t 81 SI1g wTet ¥ § Wil
1, 3N SfAPR

2. IUAT DR

3, IpIfad STPR

4, TUDH ADR

Correct Answer :-

. Tpifad TBR

19) T UfdTal & P19 T BT 0T 2:
RIS T T ¥ Vg Yo R
T4 YT AwadT Waa=Adl goRdat | 1"
1. I1G 70T

2. HTE T
3. 3fIS U1

4. 4R

Correct Answer :-

20) 3 Ufeaal § SI9 91 BT T §:
P fofe Ty YA g |

Pod aG- 99 MW g I 11

1. ORI TIu

2. T T[0T
3. IS 0T

4, Yfga 39

Correct Answer :-



21) JUP BT UATTAT Mg FT B2
1. G¥F

2.9

3. Hg

4, fogy

Correct Answer :-

22) &Pr o1 AY §:
1, faeten, e, same
2. eI, SyyuT, Sre
3, fadies, Sy, 33T

4. faa®, fewr, aare

Correct Answer :-

23) “Ugae H B AT TR 82
1, TGS T

2. 9gsilfe Ja™

3. HHYRY AN

4, g7 9™

Correct Answer :-

24) 3[R BT UIIATI IMeg T &2
1, 3T
2. 9

3. 91

4.9

Correct Answer :-



25) ‘FR- {5 Ioft F g §:
1. FRd® - e gm

2. O - RA® g

3. qargard g

4, foRiet g

Correct Answer :-

. foRigm

26) Uiy STV T2 B:
1. Ui

2. Fitarel

3. ufduar

4, gidg=

Correct Answer :-

. T

27) ‘B &1 AR faug g
1. T AT aTaT 31t TR

2. 9 =1 arar srfq Ra-ga

3. o =31 areT 3rufe s

4. <4 =11 ara Sfuiq R

Correct Answer :-

28) ‘Sl TRV &, § IXHd FE1° BT ATYRT 91 BT
1. TR 9T SR9d gl

2. TRSH a1 RIJ & |

3, TRO ATl §9Rd ol |

4, ToRA 9T SRYd Tl




Correct Answer :-

. RO 9T SREd Tail

29) ‘UG BT Pt b Juit & arar 22
1. T B

2. S B

3. HeMl

4, AETHT

Correct Answer :-

30) ‘TRANTRIET HT ARG faurg ghm:
1. T & o SHrf=imer

2. TRINT & forw gmen

3. TRART o fore ura=iret

4. TN o ToTQ e

Correct Answer :-

o TRINT & foTe ST

31) FI@ YAd | T TG o
1. 33

2. 3fsTd

3. 3R

4. 3rdlga

Correct Answer :-

32) “ATE 7 31 T BT T HE ¥ 8
1. T 7 319 3T F_T
2, A1 = 319 31T ger
S ICE R CR I RN



4, <919 9 3T 3 <gr’

Correct Answer :-

o </ T 319 ST g

33) <O = 3@ A WE FA F ¢ Bgr &) Ay are & gear:
1. A 3 X1 9 $gl fop a8 WMt pR Al

2.\l 1 gl b a8 WTdl HR A |

3. 3@1 A Al 9 Fgl b 98 A HR Al

4, 341 ¥ Hgl [ g i dR |

Correct Answer :-

« I X1 ¥ %1 o 98 Qe B

34) R FT1 A §:
1. 570 Y B a1
2. A&, AT

3. P, fbRT

4, AR

Correct Answer :-

. dIEE,dR

35) ‘dRTA B! I BT el €U 5:
1. ‘IR &I RaSHP
2. TREA Bl TS
3. ‘SReA B RS
4, “HR B TSP

Correct Answer :-

RN EARTCE

36) “THATH T BT YETaRT &:
1. T 3R TH IR
2. T% IRTH &l



3. T 3R U WURG
4. U% 3R TH IRE

Correct Answer :-

. T& 3R Tdh WRE

37) ‘TP UY & HTol YETar BT 344 §:
1. Tep T ¥ fargr ey

2. U DT DX T ORI B oY g1 ST
3. T B I T &I

4. T YT | Ryth Uep 81 1A B

Correct Answer :-

« TP DR R 999 gaR1 B ot g1 S

38) “SF-UgHT TP J01 b Weg - THE -
1. R - ffes gm
2. T - FRY® g

3. qafgard g
4, TR g

Correct Answer :-

39) Ffvarea &1 fE & Fed €2
1. DIRECTRATE

2. PARLIYAMENT

3. SECRETARIAT

4. SECREAT

Correct Answer :-

¢ SECRETARIAT

40) ‘AFTX’ B! WS Il H FIT Hed &
1. 394, HfCIp B, SIS



2. IHdl, AT, 3T
3. 394, eI Hr, Ao

4, IG, ARTICIp BT, TS

Correct Answer :-

« 3G, AN S, A

41) 3T UG B! A A U 3R 19 T T¢ =7 H1 I« <

T g% Udd aSdl &, F] AST § U
YTYT & AR} | 79 3,79 &I FiSt It
3T 1 &1 3 AR &
Sould 3T 715 IIIRE |

$d SN G- oM 9 RN ITaRT
ST 8 < 7RAT Wi, S 89 Ug ART
ART ¢ HRT |

Y — Y GO A B BT T aread 872

1, WU XS ¥ Hfa o7 arert Afea-gor Rt 4 8 i eroet wifad &1 Yd gu el
2, TN QR A B BT areqd Afa-gof Uil o 8 o 301 fekd &t 4 U B
3. T IROT ¥ Y H7 a1y WfFa-go HR I § S 30T Afdd 1 Yo gU gl
4, WU QRol © Hf3 PT I Garer S g

Correct Answer :-

. TR Y B 1 A WU URAG & B S oo i 1 R g R

42) 39 UE P OF 9 U 3R ) fIT 78 u=q F1 3R <

31 gfs Udd Sl g, $e! aST & U
HTST & 9RY § TH 3,949 $1 WSt a1
3T &1 &1 5 AR A

gouTd 3T TS JTARI |

F9 AR T GO H T IART
ST B < 7T Wi, e 89 TE ART
AR ¢ AR |

Y - pia o9 & forg = IRew &1 g I8 8?2
1. B3 S & U IR 99 & Hg WL
2. g ofiF & forT gu 7§ Bt Hel Uika- & g @1 5



3. ®fd S & forg el 37 &t Har e B Hg @I B
4, B3 S & T 3T IS FRA F Hell WG+ D H W8

Correct Answer :-

. B SN & fRIT 3re sfcre &R B Bl da- b b8 el 2|

43) T UG DI A A U 3N 19 fIT 7T Uz 1 IwR <

»l gFe Udd aSdT 3, Bl @S g U
HTST & ARY & TH g, 79 P HSY It
NI TM G 3T AR |
SoUId 3T TS deIRI |

P9 AR IR o Hd T ST
SHT 8 WRAT W), S 36 98 AART
AR 1 AR |

UY- 59 Hidar A fp-1 THET3ii U= Y11 ST -1 82

1. %ﬁ?uﬁn%ﬂma@uﬁaﬁw HTYT He-HTd, ToHifa o Ted FHETSl TR YT STl
T g

2. gﬂﬁuﬁqw,uﬁﬁw, HTRIT He-HTd, IS o T fed THRITSH TR YTl STdT 1T
|

3 gﬂﬁmﬁw@m,uﬁﬁw, HIYT He-HTd, TSIt O T Ed GHSre TR U=l ST 71T
|

4, ?ﬁfmﬁuﬂ?ﬂmsﬂm,mﬂﬁw, YTRR Ne-HTd, JoHITd o TrTerd JHAT3N UR YTl STl 71T
|

Correct Answer :-

. gﬂﬁuﬁawﬁm,uﬁﬁw,mwﬂam,w:ﬁﬁ%wmwsﬁmwmw
|

44) 9 UG BI A A U 3R I fiw T = 1 I=R &

F! g Udd aSd1 3, Bl AT § Ut
YTYT & ARI & A 7, 79 St AT q=il
3T T &1 3 AR |

SooTd 3T T8 STIRI |

Hd RN G oM Hd TR STOART
ST 81 FRAT W, S 36 98 AART
HRT G AR

UY — 5 HiddT BT XYP HT 82



1. TR Tebdl
2. TP Tepell
3. 1P Uebel
4. TP Tehdl

Correct Answer :-

45) 39 UG BI &AM A U 3R T fgr me w7 13" €

3! gFe Udd AT §, Tl aST ¢ U
HTYT & TRI | T 8, 7 B H1S at
3RT T &) 39 9R-1 |
Sould 3T 715 ISR |

F9 WA T GO F T IEART
ST Bt 7T Wi, S 36 98 AART
HRT ¢ AR

Y- S Hidal HT Jd UG T §?2

1. 3 HIAT BT Y HTd S P oY sferg™ g o 21

2. 3 HIYd BT HA HId e &I dgrar S gl

3. 9 BT BT HA HIF, U HTEART SR O TH Bl Feral o g |
4. 3 DY BT T HIT STURA IS 3R TH P! §ear ST 2|

Correct Answer :-

o T DA BT S TG, STUT HIZART 3R SHTIN THS H| 9G1a1 ST 7 |

46) Y TR B! A A U 3R 19 e e g9 1 3=R &

H3 AN IHEd § fF SR iR Tadsrar ® Rty B, foreg aad © a8 Y9 31 SR & gRT
AT fo-1 11 oITelt, i goR) Bt eI Bt T Bl 8 | TP W Ia- & e g0 &y T
2, 59 aTff R® | T Aifev fb=g 98t g6 i A +ft =et gopa €1 39R g9 3ruA g uTur Yhe
A sTerd 8, gl ot waamar Wt Fid €1 el ura & urdt fatar 81 38 srgrms & on @1
3 3t A Fer iR, o I URT & 9 Y Hear GP |

Y- W ISP W Idd §U 31 T Tehe H Hd STad & 2
1. TSP & TR I PR 8H (U UI0T Have F STed g |



2. S & §idl | eI B §H 3T Y101 Hebe H STerd 5|
3. 5P & a9 H I HR gH MU UTUT Tobe H 81 STald & |

4. TSP IR I PR gH 3T~ UI0] Tebe H STerd B

Correct Answer :-

. TS% & o | Id B g U U Yehe | STad ol

47) U P! A F US 3R 1 2T ¢ U= #1IaR &

B3 AN IS © T SR 3R Tadsrar # faRiY 8, fb=g arvad & 98 Y9 8 1 3= & gRT
AT [R5 5T SITelt, Ifees gl Bt T B I&MT il 8 | TSd W Ia- & g g6 AT Waid
g, g0 arlf % 9 Ion Tfev frg we ) gv S  oft 99 Iwd §1 399 89 3UA g1 uiuT e
o 3Ted 8, gOR1 o1 wear Wt Si9d €1 e yra & urdh fmfar §1 3% srgemaq & on @1
SRT 37l | HIAT AR, o @ URA & = IYd Fear GP |

Y-S TR o7 Sud Jiv® faf@e|
1. 3THT DT Hed

2. 3{RIMY P Hed

3. SRR

4, SN

Correct Answer :-

o SHIRIMYT P HEd

48) T e ) A9 T Ue o A R M = H13wR ¢

®S AT gHE § fF SR SR wadar # ARy 8, foreg araa § a8 YW €1 IR & gIRT
Taerar 5+ TE ST, Sfep gl 3t Tadsra 31 W& g 8 1 9% WX ga & g g9 anr Wew
g, o arff R [ o AfeT foreg O} &t g i § off wer awa §1 399 59 v € Wi Hhe
H ST 8, Rl o1 wadzar Wt Fid §1 e ura & urdt fFmtar 81 3% srg=mas & o &1
3T 3} A HT AR, o @ YRT & O 9Yd Hedl ab

Y- IS& R g4 fH¥ SR T anfeu?
1, 98 R g0 Heuiy | Ia-T 91|

2. g W gH il R I =i

3. TSP IR 8H SIeR] IR IR a1 d@ligy|
4, 98 R gH SRIl R @1 AT




Correct Answer :-

. JS% R gH Il W T IR Tl

49) T T P! A 9§ US 3R 1 3T ¢ U=+ #1IcR &

Fs AN A & fF e SR wadEar § faRiy €, foreg araa § a8 YW €1 I=ImE & gkl
werar 75 T8 orelt, Sfeep gl ) Tae=raT &t 3& il 8 1 Te® W Ieq & e g0 &l wda
2, &4 arff % | gaqr T feg ) g0 i A oft =e g@a &1 39 g9 3ruA g i Twe
A 3T 8, gaRl ! wdaar 1t Sd 81 fendf yra & urdt fafar 81 3 srgzms & qon @1
3T 3 T HIAT AR, R @ URE & 9= IYd Sl G& |

WY- YIRd & YTdt Fafar e 82
1. HRA & 3rclia  Fafar femif &1
2. YRd &yt Fafar faemif 51

3. URd & yrat fafar Rres g1

4, YA & urdt Fafar faemif g

Correct Answer :-

« YRd & Hrdl Fafar faemff 2

50) S T P A US 3R A1 3T T U= #1 IR &

H3 AT THea € SR ok wdar Ry R, frg arae § a8 Y9 B 1 SR $ gRT
TqdaT {51 T1 oIiel, Ifee gl B I Bt & gl ¥ | ISd UR Ia- & g g9 &b waad
2, o0 il TR | Ter Tt g oe df a9 a7 oft 9w god €1 399 g9 S1uA 8 Ul Hhe
A ST 8, gOR! o1 wadaar Ht Fd €1 fendf ura & urdt At §1 3% ergrms & on @1
3T 3t A HeAT ALY, o T YR & 9= Y Hea AP |

wy- faemeff ura & T= uagg F&

1, faemff o1 & 1l SR YRd & T=d UYd &9 Ihd g

2, el Srg=nrd feTemt rumTehR YR & W= Uy 5 Tohd &
3. faemeff orRnRyd femmmt ST YRd & AR &7 Tahd o |
4. faemdf srgenfa W= SoFTHR YR & = 9Ud & Tavd & |

Correct Answer :-

. Tt srqenfa feaf srommes YRd & I=a 9gd 99 9ahd g |



51) YT TG AqRTe SRF e g el
1, HIYT-HTST

2. Fom

3, 70T

4, H[h0]

Correct Answer :-

52) HTNT & 77 =0T BT YGRT FTYRUT S7dT 30 FHEI SR TR H Il & 39 T Ped &2
1. dict

2. XY HTOT

3. T

4, MSTHYT

Correct Answer :-

53) VR AW B THY ST 91d T A ¥Q:
1. Y U4 faaR] & TRIghi 818 <

2. T Td W 1 TRIGRT B1S 2

3. U9 T4 foaR] & TRIGRI 8IS <

4, G1fid wd foaRl &1 g=RIghi 8Ys <

Correct Answer :-

« YII T4 f[qOR] &1 TRIGR 8IS G|

54) «3{TS T FT THTER & 17 BT Y 9194 &:
1. 31T & T JHEIR §

2. 3111 1 1 UERI &

3. 3Tl T YHMER 5

4. 3T B T GAMER

Correct Answer :-

. 35S I IIER B



55) «B=T fdT oI 31T 74T 1 P75 919 3:
1. B O Sit 317U

2. TR T Sit 71Q|

3. WR iaT St 31 Y|

4, T3 a1 St 31 Tq|

Correct Answer :-

o TR O St ST
56) «Us A U AR &1” T Y[ 9T B:
1. 08 9 Tl FARA €1
2. TS YT FIRA B
3. IS AT FSA &
4. TSI A U ARG B

Correct Answer :-

. TSU T FSAGI

57) o1 a¥gail & TTHR IR UG ST g1 T4 &, S FIT Hgd 82
1. I8I94 faurg

2. 3ABR

3. ORI HIG

4,39

Correct Answer :-

« Jeigd faurg
58) T BT T &:

o & T H Srerdf ¥ waft s A
YABY AT PURT & H&H URAT a1
Y[ HTAl H HATD HIGHT URAT g1 |
FHad® a@ foras & wHlt FeAT AL
1. AATS<

2. WY 9



3. A B<
4, MidHT1 B<

Correct Answer :-

. TiifdpT G

59) B¢ P A5 3:

o 7o <t afera o1 Tiete iR 7 |
THA ATYST T I I FTFRRA Ul

1. A B

2. gRAfifdeT ¢

3. Bidd g

4, a1 B

Correct Answer :-

. AN dq

60) Tfer 3 et BT ek B:
1. S SR AR
2. Sfere™ SR el
3. FRac 3R qreft
4, gicTar IR gl

Correct Answer :-

. SfEH SR dR

61) qTd 3R a1 T A ford:
1, § SR 74T

2. 981 SR gal

3. S 3R g4l

4. F9 3R gTar

Correct Answer :-

. TE 3R Al



62) I & [T T Weg TATST:
“ggd dt UTITE S 1ar”

1, §g HTST HTeft

2. §g HTS

3. dgd

4. SgUTIITAg

Correct Answer :-

63) I & T TP Weq TATST:
“ﬁT-ITWﬁR'IE”

1, BT

2. IR

3. 37l

4, 3UdD

Correct Answer :-

64) CANCELLED

‘DIRECTOR’®! fgdl # T Fgd 2
1. Fd=e

2. FAdzres

3. Rdy®

4, FRET®

Correct Answer :-

65) T BT AT FadT3:
STd-gul-gd PRI wRiter, gf-gf o garadl
3fERT R & 2, JR & wY $i go fmafai

1. dlcq Y XY



2. Qid
3. 8O
4, vfaa g

Correct Answer :-

o dicHc Y

66) T I8 HdTl forTd I §U U3l P GRI:
1. T 3R AT BT YUTT STl il 5 |

2, IIAGHAT 3R TG BT THTE ST SITell ¢ |
3. HET TR TG BT YHIT STl ST |

4, AT 3R ARG BT YT STAT ST B |

Correct Answer :-

« DT 3R A BT YIS STall STl g |

67) Fafifaa &l A s &:
TP I3 I TG § 98 aaaR R A1
g TRaal & T@ 9 Al Fer At

G a1 weiHl ag o it arell I A

1. I

2. diHH T

3. HFAIHUT I

4, ARG

Correct Answer :-

68) “dIRIRT Y&l UfApT Bl A UHTIRId gidl 82
1. dral

2. WSTR
3, A4t

4, SEAR

Correct Answer :-



69) ‘TR URHT T UBTI Hel | glaT 82
1. 3T Y PIS I8!

2. STTAYR
3, 3RATETG

4.33R

Correct Answer :-

70) Ueoiad B g1 T1T, FHTH el 1 g1 1 3d: STH a1dl ! fawR A forea &1
31T foar ST T1fgu|

1. G et
2. N Lt

3. SSHTHD et
4, VTGP et

Correct Answer :-

. A

Topic:- General English

1) Choose appropriate articles for the given sentence:

____reportwas filed in ____ neighboring police station where the incident had occurred.
1. An, the

2. An, an

3. A an

4, A, the

Correct Answer :-

2) Choose appropriate articles for the given sentence:



Shopping for clothes proved to be traumatic experience for executive who went
shopping abroad.

1. a, the
2. an, an
3.a,a

4, a, an

Correct Answer :-

3) Choose appropriate articles for the given sentence:

In order to perform well, studying hour before exam is not advisable.

1. an, an
2. the, the
3.an,a

4, the, an

Correct Answer :-

4) Choose the appropriate preposition for the given sentence:

The flowers withered ______ the hot sun.
1. off

2. from

3.1in

4. under

Correct Answer :-

e under

5) Choose the appropriate preposition for the given sentence:

llliteracy is an obstacle progress.
1. for

2.1n



3. with

4, to

Correct Answer :-

6) Choose the appropriate prepositions for the given sentence:

This report contains an overview _______ the current economic situation prevailing ____ the country.
1. for, in

2. by, on

3. of, in

4, of, at

Correct Answer :-

7) Choose the appropriate articles for the given sentence:

The government plans to introduce law that will provide free entry into all temples in
south.

1, g, the
2. an, an
3.3,a

4, an, a

Correct Answer :-

8) Choose the appropriate usage to fill in the blank:

lliveafewyards ___ the bus stop.
1. away

2. off

3. near

4, from

Correct Answer :-



9) Choose the option that best interchanges the italicized word in its adjectival form.

The man is not having any courage.
1. The man is uncourageous.

2. The man is cowardly.

3. The man is not courageous.

4, The man is known to be cowardice

Correct Answer :-

¢ The man is not courageous.

10) Choose the correct form of verb for the given sentence:

We hope that the sunny weather _____ over the weekend.
1. lasts

2. should last

3. will lasting

4, lasted

Correct Answer :-

11) Choose the correct form of verb for the given sentence:

Iwantedto_____ the actor, but my car broke down.
1. be meeting

2. meeting

3. meet

4, have met

Correct Answer :-

12) Choose the correct form of adverb for the given sentence:



Weallwanta_______ just government.
1. thoroughly

2. simply

3. perfectly

4, fully

Correct Answer :-
o perfectly

13) Choose the correct form of adverb for the given sentence:

| ate my lunch
1. goodly
2. in a hurried

3. with reverence

4. hurriedly

Correct Answer :-
e hurriedly

14) Choose the correct form of adverb for the given sentence:

_______,itdoesn't matter.
1. Honestly

2. Truthfully

3. Gratefully

4, Abundantly

Correct Answer :-
e Honestly

15) Choose the correct form of adjective for the given sentence:

Ambition does not always conduce to happiness.
1, intimate

2. ultimate



3. big

4, great

Correct Answer :-

e ultimate

16) Choose the correct form of adjective for the given sentence:

Never be anywhere near Manjeet when she loses her temper; she can be very
1. brave

2. emotional

3. assertive

4, aggressive

Correct Answer :-
e aggressive

17) Choose the correct form of expression to complete the sentence:

The building is in a dilapidated ___
1, situation

2. status

3. condition

4. position

Correct Answer :-

» condition

18) Choose the correct form of expression to complete the sentence:

This is a matter of no
1. use

2. value

3. importance

4. interest

Correct Answer :-



e importance

19) Choose the correct form of modal auxiliary verb for the given sentence:

Jenny ___ able to leave the hospital within six hours after he fell ill seriously.
1. was

2. can

3.1is

4, is being

Correct Answer :-

20) Choose the correct form of tense for the given sentence:

I always for a walk every day.
1. went

2. am going

3. goes

4. go

Correct Answer :-

21) Choose the correct form of tense for the given sentence:

The child _______ since morning.
1. had cried

2. have been crying

3. has been crying

4, had been crying

Correct Answer :-

* has been crying

22) Choose the correct form of tense for the given sentence:



He ___ as he works because he is happy.
1. was smiling

2. smiles

3. has smiled

4, is smiling

Correct Answer :-

e smiles

23) Choose the correct form of tense for the given sentence:

This year we are visiting relatives, but next year we _____ our holidays at home.
1. had spent

2. will be spending

3. will spent

4. have spent

Correct Answer :-
o will be spending

24) Choose the most suitable determiner for the given sentence:

There's_______ ice cream in the fridge.
1. no

2. most

3. any

4, few

Correct Answer :-

25) Choose the most suitable determiner for the given sentence:

color will suit you; you have such a good complexion!
1. Another

2. Neither



3. Either

4, Some

Correct Answer :-

e Either

26) Read the passage carefully and answer the question given below:

While the world is still debating the safety of self-driving cars, the futuristic city-state of Dubali, in the United Arab
Emirates (UAE), is preparing to launch an autonomous aerial taxi. Starting in July, commuters will be able to
summon the world’s first passenger drone, the EHang 184, to transport them to their desired destination without
having to deal with Dubai’s congested freeways.

The 142-horsepower quadcopter, which debuted at the Consumer Electronics Show in Las Vegas almost a year
ago, in January 2016, weighs 440 pounds and can fly at heights of up to 11,500 feet. Powered by eight propellers,
the four-legged, egg-shaped vehicle has room for a single passenger weighing up to 220 pounds and a small
suitcase. Though the aerial taxi can reach speeds of up to 100 mph, Dubai’s transportation officials say it will
typically operate at about 62 mph.

Riders can ask for the flying taxi to pick them up from designated zones using the company’s smartphone app.
When the drone arrives, he/she straps into the race-car-style seat, selects one of the pre-programmed destinations
on the touch screen, and sits back and enjoys the flight. To ensure the passenger’s safety, all flights are monitored
remotely by a control room on the ground.

In the unlikely event that any of the components malfunction or disconnect, the EHang 184 will make an
emergency landing in the closest possible area to ensure the customer’s safety. The drone is also programmed to
conduct complex calculations to ensure its route won’t collide with that of another drone. While having no control
over the remotely piloted vehicle may appear scary, the manufacturer, China-based EHang, says, “It is the safest,
smartest and eco-friendly low altitude autonomous aerial vehicle.” The only drawback? The EHang 184 has a
battery life of 30 minutes and a flight range of just 31 miles, which means that those with longer commutes are out
of luck. Also unknown, is the cost of each ride.

Question: Which of the following is FALSE about EHang 184?

1. It has a battery life of more than half an hour

2. It was first showcased in Consumer Electronics Show in Las Vegas
3. It weighs 440 pounds

4, Tt can fly at heights of up to 11,500 feet

Correct Answer :-

« It has a battery life of more than half an hour

27) Read the passage carefully and answer the question given below:



While the world is still debating the safety of self-driving cars, the futuristic city-state of Dubai, in the
United Arab Emirates (UAE), is preparing to launch an autonomous aerial taxi. Starting in July,
commuters will be able to summon the world’s first passenger drone, the EHang 184, to transport them to
their desired destination without having to deal with Dubai’s congested freeways.

The 142-horsepower quadcopter, which debuted at the Consumer Electronics Show in Las Vegas almost a
year ago, in January 2016, weighs 440 pounds and can fly at heights of up to 11,500 feet. Powered by eight
propellers, the four-legged, egg-shaped vehicle has room for a single passenger weighing up to 220 pounds
and a small suitcase. Though the aerial taxi can reach speeds of up to 100 mph, Dubai’s transportation
officials say it will typically operate at about 62 mph.

Riders can ask for the flying taxi to pick them up from designated zones using the company’s smartphone
app. When the drone arrives, he/she straps into the race-car-style seat, selects one of the pre-programmed
destinations on the touch screen, and sits back and enjoys the flight. To ensure the passenger’s safety, all
flights are monitored remotely by a control room on the ground.

In the unlikely event that any of the components malfunction or disconnect, the EHang 184 will make an
emergency landing in the closest possible area to ensure the customer’s safety. The drone is also
programmed to conduct complex calculations to ensure its route won’t collide with that of another drone.
While having no control over the remotely piloted vehicle may appear scary, the manufacturer, China-
based EHang, says, “It is the safest, smartest and eco-friendly low altitude autonomous aerial vehicle.”
The only drawback? The EHang 184 has a battery life of 30 minutes and a flight range of just 31 miles,
which means that those with longer commutes are out of luck. Also unknown, is the cost of each ride.

Question: Which one of the following options is the antonym of the underlined word ‘congested’?
1. Unblocked

2. Massed

3. Crowded

4, Jam packed

Correct Answer :-

e Unblocked

28) Read the passage carefully and answer the question given below:

While the world is still debating the safety of self-driving cars, the futuristic city-state of Dubai, in the
United Arab Emirates (UAE), is preparing to launch an autonomous aerial taxi. Starting in July,
commuters will be able to summon the world’s first passenger drone, the EHang 184, to transport them to
their desired destination without having to deal with Dubai’s congested freeways.

The 142-horsepower quadcopter, which debuted at the Consumer Electronics Show in Las Vegas almost a
year ago, in January 2016, weighs 440 pounds and can fly at heights of up to 11,500 feet. Powered by eight
propellers, the four-legged, egg-shaped vehicle has room for a single passenger weighing up to 220 pounds



and a small suitcase. Though the aerial taxi can reach speeds of up to 100 mph, Dubai’s transportation
officials say it will typically operate at about 62 mph.

Riders can ask for the flying taxi to pick them up from designated zones using the company’s smartphone
app. When the drone arrives, he/she straps into the race-car-style seat, selects one of the pre-programmed
destinations on the touch screen, and sits back and enjoys the flight. To ensure the passenger’s safety, all
flights are monitored remotely by a control room on the ground.

In the unlikely event that any of the components malfunction or disconnect, the EHang 184 will make an
emergency landing in the closest possible area to ensure the customer’s safety. The drone is also
programmed to conduct complex calculations to ensure its route won’t collide with that of another drone.
While having no control over the remotely piloted vehicle may appear scary, the manufacturer, China-
based EHang, says, “It is the safest, smartest and eco-friendly low altitude autonomous aerial vehicle.”
The only drawback? The EHang 184 has a battery life of 30 minutes and a flight range of just 31 miles,
which means that those with longer commutes are out of luck. Also unknown, is the cost of each ride.

Question: Who is most eligible to ride EHang 184?

1. Two people who are less than 220 pounds

2. A single passenger a luggage which combined weighs 220 pounds
3. There is no mention of this information

4. One person who is less than 220 pounds with a small suitcase

Correct Answer :-

* One person who is less than 220 pounds with a small suitcase

29) Read the passage carefully and answer the question given below:

While the world is still debating the safety of self-driving cars, the futuristic city-state of Dubai, in the
United Arab Emirates (UAE), is preparing to launch an autonomous aerial taxi. Starting in July,
commuters will be able to summon the world’s first passenger drone, the EHang 184, to transport them to
their desired destination without having to deal with Dubai’s congested freeways.

The 142-horsepower quadcopter, which debuted at the Consumer Electronics Show in Las Vegas almost a
year ago, in January 2016, weighs 440 pounds and can fly at heights of up to 11,500 feet. Powered by eight
propellers, the four-legged, egg-shaped vehicle has room for a single passenger weighing up to 220 pounds
and a small suitcase. Though the aerial taxi can reach speeds of up to 100 mph, Dubai’s transportation
officials say it will typically operate at about 62 mph.

Riders can ask for the flying taxi to pick them up from designated zones using the company’s smartphone
app. When the drone arrives, he/she straps into the race-car-style seat, selects one of the pre-programmed
destinations on the touch screen, and sits back and enjoys the flight. To ensure the passenger’s safety, all
flights are monitored remotely by a control room on the ground.



In the unlikely event that any of the components malfunction or disconnect, the EHang 184 will make an
emergency landing in the closest possible area to ensure the customer’s safety. The drone is also
programmed to conduct complex calculations to ensure its route won’t collide with that of another drone.
While having no control over the remotely piloted vehicle may appear scary, the manufacturer, China-
based EHang, says, “It is the safest, smartest and eco-friendly low altitude autonomous aerial vehicle.”
The only drawback? The EHang 184 has a battery life of 30 minutes and a flight range of just 31 miles,
which means that those with longer commutes are out of luck. Also unknown, is the cost of each ride.

Question: The best title for the passage could be:
1. EHang 184: An Ariel Taxi

2. The futuristic city-state of Dubai

3. Dubai’s transportation system

4, A flying taxi at your doorstep

Correct Answer :-

« EHang 184: An Ariel Taxi

30) Read the passage carefully and answer the question given below:

While the world is still debating the safety of self-driving cars, the futuristic city-state of Dubai, in the
United Arab Emirates (UAE), is preparing to launch an autonomous aerial taxi. Starting in July,
commuters will be able to summon the world’s first passenger drone, the EHang 184, to transport them to
their desired destination without having to deal with Dubai’s congested freeways.

The 142-horsepower quadcopter, which debuted at the Consumer Electronics Show in Las Vegas almost a
year ago, in January 2016, weighs 440 pounds and can fly at heights of up to 11,500 feet. Powered by eight
propellers, the four-legged, egg-shaped vehicle has room for a single passenger weighing up to 220 pounds
and a small suitcase. Though the aerial taxi can reach speeds of up to 100 mph, Dubai’s transportation
officials say it will typically operate at about 62 mph.

Riders can ask for the flying taxi to pick them up from designated zones using the company’s smartphone
app. When the drone arrives, he/she straps into the race-car-style seat, selects one of the pre-programmed
destinations on the touch screen, and sits back and enjoys the flight. To ensure the passenger’s safety, all
flights are monitored remotely by a control room on the ground.

In the unlikely event that any of the components malfunction or disconnect, the EHang 184 will make
an emergency landing in the closest possible area to ensure the customer’s safety. The drone is also
programmed to conduct complex calculations to ensure its route won’t collide with that of another
drone. While having no control over the remotely piloted vehicle may appear scary, the manufacturer,
China-based EHang, says, “It is the safest, smartest and eco-friendly low altitude autonomous aerial
vehicle.” The only drawback? The EHang 184 has a battery life of 30 minutes and a flight range of
just 31 miles, which means that those with longer commutes are out of luck. Also unknown, is the cost
of each ride



Question: The step-by-best procedure to ride EHang 184:
I. Sit back and enjoy the ride
I1. Select one of the pre-programmed destinations on the touch screen

II1. Use the company’s smartphone app and ask for the flying taxi to pick them up from designated
Zones

IV. Strap oneself into the race-car-style seat
1. LILIL IV
2. 1L IV, ILL 1
3.0L 1L IV, 1

4.1, 1, IV, TII

Correct Answer :-

« IILIV,ILI

Topic:- General Knowledge

1) I am seventh in the queue from either end. How many people are there in

the queue?/ ﬁwmwﬁwﬁﬂmﬁwwﬁwﬁwﬁmﬁwﬁr%
1.13
2. 11
3.10

4.14

Correct Answer :-

2) If the day before yesterday was Friday, what day will two days after
tomorrow be? /3¢ dtd 5T & | Ugd H1 fa7 Yepar UI, df 3 adt $a & ¢l fea & a1g

®i4 91 fa1 grm?
1. Sunday/3fdar
2. Saturday/=FaR

3. Wednesday/ 94YdR

4. Friday/[shdR

Correct Answer :-

« Wednesday/ §YdR



18
4, 17

Correct Answer :-

4) In the following question, select the related letter/word/number from the

%grgn alternatives./ fF=ffa w1 # fou e faweul & 3 TwafRa SR/ /Hen &1
|

UNCLE : AUNT :: FATHER:?/ 7T ; 979t ;: fUen:?
1. Daughter/ﬁEﬁ
2. Affection/ g

3. Mother/ HT

4, Son/ 4A

Correct Answer :-

« Mother/ ar

5) In the following question, select the related letter/word/number from the

%}%’;ﬂ alternatives./ fFfifaa u # fou e fowe # @ TG srer/Tssen &t
|

42 : 20 :: 64:?
1.33
2.31
3.32
4. 34



Correct Answer :-

6) In the given diagram, parallelogram represents women, triangle
represents the sub-inspectors of police and circle represents the graduates.
Which numbered area represents women graduate sub-inspectors of
police?/ f3T T 3@ #, TumiaR agys afgars &1 gxifar 8, Aiys gfe & 3u frdters ot
mgamﬁwﬁﬁaﬁm%l P HHifPa & gfera § afger Trae suf-ies &)
IRfaT 82

1.13
2.3
3.5
4.8

Correct Answer :-

7) N is more intelligent than M. M is not as intelligent as Y. X is more
intelligent than V but not as good as N. who is the most intelligent of all?/ N,

M 3t ga-T § I FSAF B M, Y 3 Siftre gigumr =gt 81 X, v &1 gan | it gigam
RGN I 331 781 81 9t ¥ 9ad gfgua #1982

1.Yor NJYTT N
2. M
3. N

4. X

Correct Answer :-

« Yor N/YHUIN

8) Which of the following is the smallest fraction? /A= & 9 9o S U= &9
Hr g2

7011

8
25'23'23°

| s



11
4, 23

Correct Answer :-
14
. 53

9) Which of the following interchanges of numbers would make the given
equation correct? /=1 & I ®IF- TS Ft SGal-Taet H W far war IEiwor
|EI gRI?

8§x20+3+9-5=38
1. 3,9
2.3,8
3.3,5
4.8, 9

Correct Answer :-

10) Which one will replace the question mark (?)?/ﬁwﬁ@raﬁwwﬁrﬁ(?)
DI FfaRATIUT HIM?

1.1342
2.1191
3.2197

4, 1495

Correct Answer :-

« 2197



11) Players, father and mother can be represented by/ f&ars!, fuar six ar =&t

<2ItaT ST HehdT g

1.

, &

Oo
D

Correct Answer :-

12) (2697 — 0.498)2 + (2.697 + 0.498)2
The value of 2.697 X 2.697 + 0498 x 0498 jg:/
(2.697 — 0.498)% + (2.697 + 0.498)3
2.697 x 2.697 + 0498 x 0498 ] FId Y|

1. 3.195
2.4
3.2
4, 2.199

Correct Answer :-
o 2

13) Solve the alphanumeric series given below:/ 73 €l 7% sigRi® 1T 9oit B g
P

Z2, X5, U10, ?, L26
1. P17
2. P15
3.Q17



4, Q15

Correct Answer :-

14) If ‘STAGE' is coded as ‘'TUBHF’, ‘'STRANGER’ will be coded as ' ./
gfe ‘STAGE’ &1 %e R 'TUBHF’, *'STRANGER’ &1 %< 81T ' ',

1. TUBOFSHS
2. TUSBOHFS
3. TUBSOHFS
4, TUSOBHFS

Correct Answer :-

« TUSBOHFS

15) If ‘black’ is called ‘red’, ‘red’ is called ‘white’, ‘white’ is called ‘brown’,
‘brown’ is called ‘yellow’, ‘yellow’ is called ‘blue’ and ‘blue’ is called ‘green’,
then what is the colour of blood?/ gfe ‘P ﬁﬁﬁ?‘?ﬂﬁ', ‘T’ a"ﬁao_e-'ﬁ%
Tqhe’, ‘The’ Pl Hed 8 "Y1, ‘YR HI Fed & ‘Har, ‘Tiar &) Fgd g ‘e iR e ot
HEA & G, A GH BT E /g1 82

1. white/ I%g
2. green/ &l
3. blue/ Atar

4, red/ dId

Correct Answer :-

. white/ 9%g

16) If 20% of A = 50% of B, then what percent of A is B?/3f¢ A ®T 20%= B
®T 50% g, dl A BT fbd-T Ufd=da B 82

1. 25%
2. 40%
3. 30%

4. 15%

Correct Answer :-

« 40%



17) Gulbadan Begum had written Humayunama. She was Humayun’s - /

TAae-T AW A GHIGHTHT J&I B ot U7 98 garg &t &1 fi?
1. Sister/ dg-

2. Aunt/ =Tt

3. Mother/ Hi

4. Wife/ Ul

Correct Answer :-

« Sister/ dgd

18) Ratio of Sujeet’'s present age to Sameer’s present age is 4 : 3. Sujeet will
be 26 years old after 6 years. Then the present age of Sameer is:/'\‘j,Txﬁ?l 3R
THR F T 3R BT U HURM: 4 : 3 ¥l 6 T4 F 16 Yoila 26 T4 FHT ) g, af TR
ot gau oMy fra-t 82

1. 18 years/18 g
2. 24 years/24 ay
3. 15 years/15 Ty

4, 21 years /21 ¥

Correct Answer :-

« 15 years/15 9%

19) A sum of money at compound interest doubles itself in 15 years. It will
become eight times of itself in how many years at the same rate of interest

per annum? /T Y-RTRT Th i TSl BT ST F 15 T A SR 81 ATl 8 | T R fpay auf
H 3T aiftfes saret &% | 8 T[T gl wrwE?

1. 60 years/60 ¥
2. 54 years/54 dY
3. 48 years/48 d§

4. 45 years/45 ay

Correct Answer :-
« 45 years/45q¥

20) A started a business with Rs.45,000 and B joined afterward with
Rs.30,000. If the profit at the end of of one year was divided in the ratio 2 :



1 respectively, then B would have joined A for business after how many
month?/A 7 T% TR $1 YRS § Rs.45,000 $ Yol 9% 1 941 $8 G99 916 B
Rs.30,000 A% %% 3 SR & AT g1 771 a1 T a9 & 3id § 3% 2:1 & Jurd & a1y
T g1 81, <t B fova=t 9wd a1¢ s o i gan?

1. 3 months/3 HIg
2. 2 months/2 |l
3. 4 months/4 HIg

4. 1 month/1 HIg

Correct Answer :-
« 3 months/3 HIg

21) The cost price of 18 articles is equal to the selling price of 15 articles.
The gain percent is: /3¢ 18 TXG3M HT AT Yo, 15 g & 9.9 & sR1&% &, o wfara
TH [T Be

1. 20%
2. 25%
3.18 %

4. 15%

Correct Answer :-

« 20%

22) The Betwa river flows through the states of - /9dd1 -} {51 Il & AA |
CRGiRE

1. Only Madhya Pradesh/ %ad Hed Yol

2. Madhya Pradesh and Uttar Pradesh/ A% UexT 3R IR U

3. Madhya Pradesh and Chhattisgarh/ A9 s[et) Bﬁ?@rﬂwk;

4. Madhya Pradesh and Rajasthan/ A& TRl 3R ISR

Correct Answer :-
« Madhya Pradesh and Uttar Pradesh/ A& UoT 3R IR U

23) The LCM of two numbers is 1820 and their HCF is 26. If one number is
130 then the other number is: /<! I3 BT .. 1820 IUTH.I. 26 §| Tl TH T=AT
130 B, I g} e 91 |

1. 364



2. 1690
3.70
4, 1264

Correct Answer :-

- 364

24) In what time will the simple interest be 2/5 of the principal at 8 percent
per annum?/fFa THI & 8% T TS BT G T ATURUI TS, AU BT 2/5 FIN?

1. 7 years/7 GL
2. 6 years/6 ay
3.5 years/5 ay

4. 8 years/8 CL

Correct Answer :-

« 5years/5 CL

25) In a certain code RAIN is written as TCKP. How is CLOUD written in that
code?/ afe farsht fAf3a ge &, RAIN 31 forad & TCKP. 39 % ¥, CLOUD &1 34 foran

SITQT?
1. ENRWF
2. FNQWE
3. EMQWF

4, ENQWF

Correct Answer :-

26) Where is the Alkaloid Factory situated?/ 3cPIAISS SR Hgi (YT 8?2
1. Dewas/ ¢dNI

2. Neemuch/ dHd

3. Hoshangabad/ gI=RTEIG

4. Itarsi/ sawﬁ

Correct Answer :-

« Neemuch/ 9



27) A and B can do a piece of work in 10 days, B and C in 15 days and C and
A in 20 days, then C alone can do the same work in how many days? /A didTB

TS HE B! 10 fGAT H, B 3R € 15 fRAI H 9T € 3R A 20 A A S+ & d 8,41 C PaT 3T
PTH B fHaq fel A @ Ham?

1. 120 days/120 f&A
2. 60 days /60 f&
3. 30 days/30 fad
4. 80 days /80 fa

Correct Answer :-

. 120 days/120 f&A

28) When was the Satpura National Park established?/ WESTTI'@T[WHW
RYTUT gaIT UT?

1. 1979
2. 1983
3.1985

4, 1981

Correct Answer :-

- 1981

29) When was the Direct Action Campaign launched by the Muslim League?/

YIRad i gRT Y& FRATs A &9 = fhar -1 4T?
1. 1946
2. 1944
3.1947

4, 1945

Correct Answer :-

30) When was the World Bank created?/ fd% 8% oq S=01 ™1 UT?
1.1942

2. 1943



3.1944

4. 1945

Correct Answer :-

« 1944

31) What is the capital of Jordan?/ SIS P IS T 82
1. Amman/ 3fHTH

2. Baku/ did

3. Accra/ 3{shl

4, Manama/ H-HT

Correct Answer :-

« Amman/ 3fHH

32) The Khajuraho temples were built entirely of sandstones, which were

brought from the present - / TWSRTE! iR T A1 It v A Igam ueR & farar
T, S qad= P T T YT

1. Jhansi/ ST
2. Panna/ Udl

3. Satna/ 9d-l

4, Jabalpur/ SIddyr

Correct Answer :-
« Panna/ Udl

33) Two persons enter into a railway compartment in which 6 seats are
vacant. In how many different ways can they sit?/ﬁﬁWWﬁ%%ﬁﬁﬂ'ﬂﬁ
2, forad 6 Wie @relt 3 19a133 3 fovem FAF-AMT YR & S Od 772

1.6

2.12
3.30
4, 36

Correct Answer :-

« 30



34) The traditional folk-songs of Sanjha is sung by - / I3 & YRUR® eIl
forad g1 TIE w1 82

1. Married Women/ RaIIar Afgeai gRI
2. Brides to be/@ﬁ—q'l@r’q’ﬁj\\’:ﬁm
3. Young Girls/ gma@%&r a1

4. Young Girls and Boys/ Ja1 @8{&al 3iR TS®! gRI

Correct Answer :-

« Young Girls/ gal dSidl gRT

35) When did the Madhya Pradesh Government constitute the Madhya
Pradesh Agriculture Cost and Marketing Commission?/ A UG PR A A
WS HIY ART 3R fAUur ST &1 76 & d forar Ur?

1. 2016
2. 2017
3.2014

4, 2015

Correct Answer -

« 2017

36) Narain Sridhar Bendre was a renowned — /TR R g TR O
1. Painter/ REI&R

2. Actor/ ST

3. Playwright/ Alc®®R

4, Author/ oG®

Correct Answer :-

. Painter/ TEaR

37) The average weight of 15 men in a boat is increased by 1.6 kg, when one
of the men, whose weights 42 kg is replaced by a new man. Find the weight
of the new man (in kg)./15 ATfa®] &7 3N9d goi4 1.6 U1, 9¢ ST 8, &9 42 fp.m.

IS 9T U A1fdP & g¢d TP 141 A1 3T a1 &, df 7 1fde &1 o (.. #) yra a3 |

1. 67



2. 66
3.65
4,43

Correct Answer :-

38) How many forest territorial circles has Madhya Pradesh been divided

into?/ fFaq 9= ity deel ¥ wer wo= 1 fyunfor fear man g2
1. 15
2.16
3. 14

4. 13

Correct Answer :-

39) How many Mahajanapadas do the Buddhist and Jain literature present a
list of during the Mahajanapada Period of 600 BC — 325 BC?/ 600 '5:11 -325

.9, % UGS $Td & SR dte 3R 9 Ao & fram wgromug 92
1. 12
2.16
3.14
4.18

Correct Answer :-

40) Sum of two numbers is 40 and their product is 375. What will be the sum
of their reciprocals? /3! IS} HT AT 40 TYT ITHT YUFET 375 8, a9 ITP gabHl BT
T foa=T gim?

8
1. 75



4, 40

Correct Answer :-

41) For which of the following fairs does the group of devotees from all over
the world called ‘Jamaat’ come to attend?/ Ffaffea A s=-F 9 A wHaT
TS U BT IHE fAYUR A 3mar 82

1. Fair of Barman/ SRH &I Adl

2. Fair of Mahamrityunjay/ HgHIdSd &1 Aal
3. Aalami Tableegi Ijtima/ SfTeTH! deaii SiowHT
4. Simhastha/ Rig®y

Correct Answer :-

« Aalami Tableegi Ijtima/ 3Tl deciiit gfoadr

42) Which of the following dance performance is dedicated to the deity

Ranubai and Dhaniyer Suryadev?/ mﬁﬁﬁq—Wﬂﬂmﬁméﬁ?
IR Eida &1 wafda 82

1. Badhai/ 9418
2. Baredi/ SRdl
3. Gangaur/ TURIR
4, Matki/ Hiceh!

Correct Answer :-

« Gangaur/ TURIR

43) Which of the following districts covers the area of the former princely

State of Jaora, Sailana and Piploda?/ fFafefad # & ®i4- 91 forar sk, T e
frueiter & gd Rardl & &= &1 i $ar g2

1. Guna/ AT
2. Ratlam/ Xddm#H
3. Sidhi/ el
4. Raisen/ I8



Correct Answer :-

« Ratlam/ ¥ddH

44) Justice Dipak Misra has been appointed as the Chief Justice of

India./ AATAT U AT H yRaF__ grerarardi=r & wu  Frga frar mar g1
1.46% / 469
2.44™h /443
3.45t /4549
4.43/434d

Correct Answer :-
. 45th /457

45) A, B and C can complete a piece of work in 12, 24 and 36 days
respectively. A and B will together complete the same work in how many

days? / A, B dYT C fll o0 &1 HH1:12, 24 947136 &1 A I Gd 8,1 A 3R B 1
frae? 39 &M &t fhraa fea) & awra s3?

1.4 days /4 fé=
2.5days/5ﬁ7f
3.6days/6ﬁ‘*f
4.8days/8ﬁ7f

Correct Answer :-

. 8days/ 8

46) Shankar Dayal Sharma was the President of India?/ 2% gard XMl
HRA &, wgafa A

1. Tenth/ &8d

2. Eleventh/ SRgd

3. Eighth/ 3134

4, Ninth/ i3

Correct Answer :-

« Ninth/ g



47) Which part of the Central Highlands does the Rewa-Panna Plateau lie

in?/ Y41- U491 UGR THTd] UgTS! 31T & Hi- 4 &7 A fRa g2
1. South-western/ Gi&r- afget

2. North-western/ S<R-Uf&Hl

3. South-eastern;/ af&or-gdf

4, North-eastern/ Bfli-qﬁf

Correct Answer :-

» North-eastern/ B?R-Ugff

48) Which part of Madhya Pradesh is associated with the Mahajanapada of
Avanti?/ T YT BT B I- TT &F &<t & TTS-UE A ST §3T UT?

1. Malwa/HIddi
2. None of these/ ?Fiﬁ@fﬁi:@
3. Baghelkhand/ S9eRaus

4. Bundelkhand/ §qade

Correct Answer :-

« Malwa/HTddl

49) If two times of A is equal to three times of B and also equal to four times

of C, then A:B:C is:/df¢ A FTSRMI, B & i 9 C & IR T & R g, O A:B:C FT
ST HTd PN |

1.6:4:3
222:3:4
3.3:4:2
4.4:6:3

Correct Answer :-

50) DIRECTIONS: In the question below are given few statements followed
by few conclusion. You have to take the given statements to be true even if
they seem to be at variance with the commonly known facts and then decide
which of the given conclusions logically follows from the given statements,
disregarding commonly known facts./ﬁ%ﬂ: ﬁ%ﬁqwmﬁwmm 3R IqFH
91 8 Fewd faw e &1 3l T T8 Hy= o T 7T @ Ha €Y 9 wdyma at | e



welta gid g1 | 9t Freml 1 ufeu fiee au ifsre fos few e fAswst § & sF-a1 et few e
FHYI BT THHT ©U I IR HIAT 8, TS Faqd 9 $ o 3

Statements: /P Y:

All bags are bottles./ Tt aﬁ, CIGIGR]

All forests are bottles./ Il S7d, Sida 21

Conclusion:/ oo

I. Some bags are forests./ Waﬁ, SO

II. No forest is bag./ IS Sid, AAT T8I 21

1. If neither conclusion I nor II follows/Ui?‘fﬁWI J8r I &ENTUTW%
2. If only conclusion I follows/@mﬁﬁ?ﬁfl GiﬂFITUTW%

3. If only conclusion II follows/ af¢ %ad fAwsy 11 &I?NTUTWH%

4, If either conclusion I or II follows/ gfeardi ey 1 a7 11 &HHTWW%

Correct Answer :-

« If either conclusion I or II follows/ Tfe a1 dl fASHY I T7 1T 3IR0T FRal §

51) DIRECTIONS: In the question below are given few statements followed
by few conclusion. You have to take the given statements to be true even if
they seem to be at variance with the commonly known facts and then decide
which of the given conclusions logically follows from the given statements,
disregarding commonly known facts. /fAdar: %ﬁqwuﬂﬁ'w$u=r 3R ISP
91C 3 ey fou T 1 3! 2T 7T $Y= &) T AT | M B 3 gdyd o) | e
e gia gt | 9t ot 3t ufew iR aa Fifve fo fow 1w frsput & @ wi-w freed fag e
HYAT BT THUITI $U H JEIV BT &, Il Jagd 9 o W gl

Statements: /P Y:

All fruits are lions./ mﬂw, ‘\ﬁ'\’?'l

All lions are foxes./ 941 2, AAfSAT]

Some foxes are elephants./ Wﬁﬂﬁ'ﬂ‘f, Hiﬁ%'l
Conclusions:/ﬁ'ﬁﬂf:

I. All fruits are foxes./ 91 wd, FAfSaT 2]

II. Some fruits are elephants./%3 wd, g1l &

1. Either Conclusion I or II foIIows/ZlTFﬁﬁ'EFGfI qr 11 GFNTUTW%
2. Neither Conclusion I nor II foIIows/:{ﬁEb_EfI JRIII GERWUTW%
3. Only Conclusion II follows/%dd fAwy 11 38R0l BT §

4. Only Conclusion I follows/dad s I GENTUTW%



Correct Answer :-

« Only Conclusion I follows/drad fsHY I &WW%

52) DIRECTIONS: In the question below are given few statements followed
by few conclusion. You have to take the given statements to be true even if
they seem to be at variance with the commonly known facts and then decide
which of the given conclusions logically follows from the given statements,
disregarding commonly known facts./ﬁﬁ"x’r: ﬁ%ﬁqwmﬁwww 3T 3P
16 5 ey faw e §1 siue! foT e HU= &Y I A 8 YA g 3 Jdga o 3 e
wdla gid gt | Feft fremut 3t ufee fivr au wifome fos fow e st & & wi-a1 freed faw e
FHYA BT THET $U A SRV BT 3, ATe ga9Td a2 $o o gl

Statements:/ Y.

No book is star./ ﬁéma, T-I'RTT@%I

Some stars are men./ WH‘R’, GTIE'Fﬁ%I

Conclusions:/ ﬁ'ﬁlﬂf:

I. Some men are books./ $S 3, fHamE g

II. No man is book./ &3 3eHl, fara T8 31

III. All men are stars./ 94 3gHl, dR 21

1. Only I follows/ Had I 3{TERUI HRal &

2. Only either I or II folIows/WﬂTEﬁI qr 1l G{EI}ITUTWHT%

3. Only either II or III follows/ a1 dl 11 T 111 3ERU &l §

4. None follows/®I8 3IURUI Tg! Bl §

Correct Answer :-
« Only either I or II follows/ %a@ AT I TTIT IRV HaT &

53) In which year did the British annex the state of Nagpur which also
included south-eastern Madhya Pradesh?/mﬁﬁﬁﬁmﬁwwaﬁm
1< o feran, forad aféror-udf wea wer off =nf¥rer ur?

1. 1853
2. 1854
3.1851

4. 1852

Correct Answer :-

« 1853



54) In which district is the Fair of Ramlila held in the months of January-

February?/ &g ford # SHa3-wRadl & 419 A IrHeiar AdT $71 RS far ST g2
1. Indore/ 3&R

2. Gwalior/ TaTfeRR

3. Ratlam/ Xddm#H

4. Datia/ gfcrn

Correct Answer :-

. Gwalior/Tan%ﬂT

55) In which district is the Chachai Falls situated?/ TS Siayurd fog ford # Ry

a2

1. Gwalior/ TaTieRR

2. Chhindwara/ fégarer
3. Satna/ |d-l

4, Rewa/ dfaT

Correct Answer :-

« Rewa/ 34

56) In which state is the Periyar National Park?/ 9RaR Igt Se fora I=a # 2

1. Maharashtra/ﬂBRTgr
2. Karnataka/ FHlch

3. Kerala/av_{?i
4. Tamil Nadu/ d ?-IEFI@

Correct Answer :-

. Kerala/m

57) 45 x (297 + (8% x (3)*x 4%) =7

158
1. 3

256

2. 9



3.28

4.24

Correct Answer :-

58) If a: b: ¢ =3:4:7, then the ratio (a +b+c): c is equal to:/ATG a: b: ¢ = 3:4:7 ﬁ, Gl (a +b+c) : ¢ JATd
Eadl

1.14 : 3

2.7:2

3.2.2:1

4,1: 2

Correct Answer :-
e 2:1

59) A car goes 20 meters in a second. Find its speed in kmph./Td PR Th IAPUs | 20 Hiex Feaal
& I3t fodt/der § w1fa 1 Sifvre|

1. 36
2.20
3. 18

4,72

Correct Answer :-

60) If an article is sold at 5% gain instead of 5% loss the man gains Rs.5 more. Find the cost price of

that article./de U® AR TP I P 5% BT &b IGA 5% ATY TR 9941 8, 1 S 5 T 3AfUw
T 814 B, &Y 9% T aNTd Yo 3T pL |

1. Rs.105
2. Rs.100
3. Rs.50

4. Rs.110

Correct Answer :-

¢ Rs.50



61) A mixture of 30 litres contains milk and water in the ratio of 7 : 3. How much water should be
added to it so that the ratio of milk and water becomes 3 : 7?/30 ?ﬂﬂ%@ﬁm = | (i) 3R
BT AU 7 : 3 B 1 G SR U HT U 3 : 7 I & g 308 foham ur=t firemar w2

1. 49 litres/49 qex
2. 40 litres/40 e
3. 63 litres/63 F“E?

4, 56 litres/56 ClIeX

Correct Answer :-

o 40 litres/40 élaq

62) A train is moving with the speed of 180 km/hr. Its speed in meters per second is:/Td iﬂ‘ll'&‘, I 180

foreit/der 91 far & =< w6t 81 SHet fa MA. # fea gt
1. 50

2.5

3. 40

4. 30

Correct Answer :-

63) The difference between the length and breadth of a rectangle is 23 m. If its perimeter is 206 m,

then its area is:/TP &mﬁmﬁaﬁ?iﬁ@%‘ﬁm ez &1 W%IqﬁmWWZMﬁR
81,1 &hd FT 52

1. 1520 m2/1520 Hi2
2. 2480 m2/ 2480 Hi2
3. 2420 m?/ 2420 T2

4, 2520 m2/ 2520 Hi2

Correct Answer :-

e 2520 m2/ 2520 Hi2

64) CANCELLED
In which year did Tukoji Rao I die?/ @ISR UyH &1 gog forg ad § g3 ft?

1.1761



2. None of these/ STH Y ®I5 ol
3.1753

4,1757

Correct Answer :-

« 1753

65) Three of the following four are alike in certain way and so form a group.
Which is the one that does not belong to that group?/ R T IR faseai 9 09
PN TR AT IR TF TP T E | FHE Qo9 a1 39 9y 9 gl 82

1. Yajur veda/ Io[dg
2. Ayurveda/ G{Fﬁaﬁ

3. Atharva veda /G{ZIH%'CZ
4. Rig veda/ Hde

Correct Answer :-

« Ayurveda/ HTQ%E

66) The most malleable metal is?/ \qﬁﬁéﬁ\wmﬁlﬂﬁﬁﬁ?ﬁ%
1. Silver/ Xsld
2. Gold/ w@uf

3. Iron/ FﬁBT
4. Platinum/ @fesq

Correct Answer :-

. Gold/ uf

67) The point at which the solid, liquid and gaseous from of a substance co-
exist is called its?/dg ard fa=g oI R 313 verd 31, v au1 49 HAY srawit & vg adar
eI AU R P PeTAETE

1. Boiling point/ ®Yi®
2. Freezing point/ RLIED
3. Melting point/TTaidh
4, Triple point/ Wﬁv_cj,

Correct Answer :-



« Triple point/ %ﬁ?@

68) City B is 3 meters north of City A. City C is 3 meters west of City B. City D
is 5 meters south of City C. City E is 7 meters east of City D. In which of the
following directions is City E, with reference to City B?/ RgI¥ B, R[gR A FIWH
3 MR R BISC, G B F U A 3 Wex W81 e D, B C & Sfur #' 5 Hex R 3|
EI E, WEID H Y4 § 7 WX W &1 e B & AU, WeT E fora famm & ghme

1. East/ gj
2. South-east/ Gfémo-qd
3. North-east/ WU@C

4. South/ Gf&rm

Correct Answer :-
« South-east/ Eff\&fUTUj

69) By what process is heat transmitted from the filament of an evacuated

electric bulb to the glass? fFd TSR fAUgd 969 & 3igT A aTdl dw B SHCAT @ I
e 3Tl §:

1. Convection/ ddgd
2. Radiation/ fafeRur
3. Conduction/ dTd-

4. Heat cannot be transmitted through vacuum/ AT fAafd # Tenfed et 81 gad!

Correct Answer :-

« Radiation/ fafdor

70) Who coined the term ‘systematics’?/ foa ~Riecafes” wrsg &1 ufdure foar
YT1?

1. Linnaeus/ faf<ag
2. Huxley/ gIal

3. Lamarck/ AR
4. Darwin / gifda

Correct Answer :-

« Linnaeus/ o9



71) A horse pulling a tonga moves forward due to the force exerted by?/ T&%

GIST a1 DY ST FEraar § FoRT aim SRt gga1 § fvd 99 & $Rur

1. The horse on the ground with his feet/ aﬁéﬁﬁ@r@r R TR Sl I T
2. The horse on the tonga/ Gﬁzhé%aiﬁwaw

3. The ground on the horse’s feet/ ¢Rl RIS & TRV U TN TR 9

4, The tonga on the horse/ A GRT U8 TR T I™T 1T 5

Correct Answer :-

« The horse on the ground with his feet/ ‘Eﬁ%efaﬁ@[ ¢l TR Sl o T

72) Conversion of excess amino acid into urea takes place in?/3if%® 3t

3wt &1 g A ufkad= $gl g1d1 8:
1. Skin/ =l

2. Intestine/ 3{id
3. Kidney/ da&®
4, Liver/ 9od

Correct Answer :-

« Liver/ &d

73) DIRECTIONS: From the given alternative words, select the word which
cannot be formed using the letters of the given word./ frdan: fFufafed faeea &
W 98 e g oY TaU 7T Treg & S1&RY &1 UANT HRP 18] a7 off Tl 8-

CONSTITUTIONAL
1. TALENT

2. LOCATION

3. CONSULT

4, TUTION

Correct Answer :-
o TALENT

74) DIRECTIONS: Study the following figures and find out the number
opposite to 2./ [Nz = enpfa 1 ue 3R 2 & fAwdia si &) 319 B9



4.6

Correct Answer :-

75) DIRECTIONS: Study the following information and answer the questions

given: /3w & 7E SR # Fgd® ud o 9 fiT e Al & I« €1

Seven people - A, B, C, D, E, F and G are sitting in a circle. Five of them are
facing the centre while two of them are facing opposite to the centre. C sits
third to the left of D and both are facing the centre. E is neither an
immediate neighbour of D nor of C. The one sitting exactly between D and F
is facing opposite to the centre. G sits third to the right of A and G is facing
the centre. One of B's neighbour is facing opposite to the centre. /ITd AfGd -A,
B, C, D, E, F 3R G T g« & dR| 3 90 &1 378 & U, 5 31 3R Y& 4 g & wiafe
1 4 5 91 ivdia R Y ik ga A g ?1 ¢, D & 9t A AR R W Fo18 ok &1
FE o IR GE HAGERIE, A D A8 C FT1APecan usit 81 g TH AN D iR F & St
A | 96T 8, IUPT & &% ! faudia G &1 e 81 G, A & ST A TR WM R doT 8 3R
G $% @1 3R T@ {5 gU B | B &1 To USRAl, s 3t faudia fomn &t ek q@ fFa gu gl

Which of the following pair represents persons, facing opposite to the

centre? /= ¥ A 39 91 g Fx F fJudia ok g@ o gu safeaal & welRia srarg?
1.E, F

2.A, F

3. Cannot be determined/3Td o] foodT ST 9&bd

4. A E

Correct Answer :-

76) DIRECTIONS: Arrange the following in a logical order:/ =1 T HI &
Ul 354 H I Ryd B

(i) Collector/ foramehi=r

(ii) Governor/ IJUTd



(iii) Chief Secretary/ &1 Oild
(iv) President/ Iregufd

(v) Clerk/ &

1. (v), (i), (iii), (i), (iv)

2. (v), (i), (iii), (iv), (ii)

3. (v), (1), (iv), (iii), (ii)

4. (i), (i), (iii), (iv), (v)

Correct Answer :-

« (v), (i), (iiD), (i), (iv)

77) If you walk toward a plane mirror at a speed of 10 cm/s, at what speed

does your image approach you?/ Ife 3y forelt Twaa gdur &1 8w 103! ufd s
o 7T A IS I8 9 MUHT ufafaa i i I Smuds T Sma:

1. 20 cm/s/ 20 JHIUd dbg

2. Information inadequate/ STH®RT 37¢ &
3.5 cm/s/ 5 IHUfd 95

4,10 cm/s/ 10 YHIUA Abs

Correct Answer :-

« 20 cm/s/ 20 IHUfd dhs

78) An antipyretic is a drug that?/ & TdUEfes Siufd gt € -
1. Is used in viral attacks/ faSTO] & TepH0T & SR foram St 8

2. Raises body temperature/ YRR & AU & dgrd] g

3. Lowers body temperature/ R IR & dI9HH Bl HH Bl o

4, Kills infection/ TehHUT &l ARG &

Correct Answer :-
« Lowers body temperature/ IRR & ATIHH &I HH Bt &

79) The best material for casting foot-print marks in sand is?/ﬂﬁjﬁ%’ﬁ?
1 & fore waw Iugad ugrd &9 a1 8

1. Sulphur/ e
2. Molten lead/ fUga g ois



3. Plaster of paris/ TReX 311 URY
4. Paraffin wax/ IR HH

Correct Answer :-

« Paraffin wax/ TR®H dH

80) Cotton fibre is obtained from the?/waﬁﬁmﬁmﬂlﬁﬁ:
1. Root/SIg

2. Seed/ CIS|

3. Leaf/ gt

4, Stem/ R4

Correct Answer :-

. Seed/ didl

81) Pollination by birds is called?/ U&H gR1 g1 e URNTU STl &
1. Entomophily/ TeHIftset

2. Hydrophily/ a‘ﬁiﬁmﬁ

3. Arnithophily/ e

4. Anemophily/ Tt

Correct Answer :-

« Arnithophily/ ffifteft

82) The polio virus enters the body through?/ Tifer &7 faur 3R # &4 wa=r
HIATe?

1. Contaminated food and water/ ?i@iﬁﬁﬁlﬂa HioH 9

2. Tick bites/ gl & Ble &

3. Saliva and secretion from the nose/ AT § WIfdd 84 ardl dR 3= garef
4, Mosquito bites/ AR & B A

Correct Answer :-

. Contaminated food and water/ Sgf¥d S/d @ WieH 9

83) Emeralds are made up of?/ U= f&H®T T Bld1 &2



1. Carbon/ CACE

2. Gold/ wquf

3. Beryllium/ sSRkferad
4. Silica/ Tiferet

Correct Answer :-

« Beryllium/ sfferad

84) Which of the following fungi has been extensively used for genetical

studies?/ 9 ® A B9 A Fa® &I Jalfte MRS A H SUHT far S 872
1. Pink bread mold/ TdTdl §s Hicg

2. Bread mold/ IS HIE

3. Mushroom/ HRIEH

4, Green mold/ Eﬂ%

Correct Answer :-

« Pink bread mold/ TdTsl! 5 Al

85) Raghu and Babu are twins. Babu’s sister is Reema. Reema’s husband is
Rajan. Raghu’s mother is Lakshmi. Lakshmi husband is Rajesh. How is
Rajesh related to Rajan?/ Y 3RS Isar ¢ | I Bl qga A1 ¢ | w1 ufd == 8
| TY P AT ae ¢ | GeH BT URI IS | TSI BT IS A R IE R ?

1. Son-in-law/<qHIq
2. Father-in-law/d3x
3. Cousin/ﬁ%ﬂ

4, Uncle/3idd

Correct Answer :-

« Father-in-law/3d3gr

86) Soniya travelled straight from a point A to B a distance of 12 km. She
turned right and travelled 8 km and reached point C. From that point she
took right turn and travelled 6 km and reached at point D. How far is she

away from the starting point?/ vﬁﬁm, QﬁﬁTQ’A IB dH 12 %.ﬂ’r.&ﬁ@'ﬂﬁﬁﬁq
F 31 TE ST oo 8 fr it et R siR farg c aw wgmdi R Isufag c A clu gsav 6
.. gardt § 3R farg D a9 ugTdl 81 98 oA TRy fag A fraii g wr 82

1. 14 km/ 14 f& .



2.12 km/ 12 f& .
3.10 km/ 10 &4
4,13 km/ 13 f&.H)

Correct Answer :-

« 10 km/ 10 f& .

87) What is responsible for diphtheria and influenza?/ 9 & o4 fgufifvar aur

SIS & foT SwRardt §:

1. Bacteria/ STy

2. Bacteria and virus respectively/ W:Gﬂ?ﬂﬂjaﬁw
3. Virus and bacteria respectively/ ShH<T: [dST0] 9 SiiaTy]

4, Water pollution/ SIcf UgHUT

Correct Answer :-

. Bacteria and virus respectively/ S5HSI: Silary] g fquTg]
88) The largest bird is?/ WWQ&%%}

1. Elephant bird/ Touef!

2. Albatross/ Teag i

3. Ostrich/ 3T

4. Cassowary/ BRI

Correct Answer :-

« Ostrich/ 3¢

89) Which among the following causes Hydrophobia ultimately? /[&a% Rl

GESILIEEINGERE LN R ETIG
1. A bacteria /U SIdIY]

2. A protozoa /Qﬁtﬁ@T{[&ﬂ

3.A wormwwwaﬂ@ﬂ@a

4. A virus /T fauTg]

Correct Answer :-

« A virus /U {91y



90) The antibiotic penicillin is obtained from?/ ufasifae ufRiferm fra v &1
STl 82

1. A bacterium/ T G417

2. Virus-infected cells/ faumy] S id iR

3. Fungus/&dad

4. Synthetic drug/ IRARd 71

Correct Answer :-
« Fungus/&dd

91) How many rectangles are formed in the figure given below?/ -1 & T8

pfa § fa 3mad a4 82

1.13
2.9
3. 11

4,12

Correct Answer :-

92) A dentist’s mirror is a?/U% ddfuiBcd® B I U0 BT SUIRT HIAT & :
1. Convex mirror/ I YT

2. Cylindrical mirror/ SAIHR YT

3. Plane mirror/ JHAd GUUT

4, Concave mirror/ 3aad gyur

Correct Answer :-

« Concave mirror/ 3[aad guu



The nearest star (other than the sun), which is visible to the naked eye is?/

o Qo9 a1 aRT (G & Srean) T S ¥ St v 9 fewrs dan €
1. Pole star/ gd dRT

2. Proxima century/ SR IR

3. Alpha century/ 3{e®T IT_!

4. Vega/ am

Correct Answer :-

« Alpha century/ W@ﬂﬁ

94) Palaeontology is the study of?/ UdicIareil fpTeT eay- gidl 8¢
1. Bones/ ifREr

2. Primates/ WigHc

3. Fossils/ SidTgA

4. Birds/ Uil

Correct Answer :-

« Fossils/ Sitar=d

95) We get energy directly from?/ ¥ fad e oI UTed #3d &:
1. Ocean/ HgHR

2. The sun/ ﬁﬁf

3. Space/ 3=iR&l

4. Atmosphere/ agHSA

Correct Answer :-

« The sun/ if-f

96) Stars appear to move from east to west because the?/ R Td & Uf3W &t 3R

1. Whole universe is moving from east to west/ ®a1%1€q:q‘®ruf9ﬁ€mm%
2. Earth is rotating from west to east/ gt uf2 & gd gl w<ft §

3. Earth is revolving around the sun/ t\[ﬁ[‘v’ﬁl%ﬂfﬁ 3R TFHR T &

4. The universe is rotating from west to east/ Ug[&%‘l%’ﬂf%lﬂ@fﬂjﬂ;ﬂﬁ%



Correct Answer :-

« Earth is rotating from west to east/ q@t@n@qﬁquﬁm—cﬂﬁ

97) A medicinal substance given against the intake of poisons or to prevent a

disease from having an effect is known as an?/ a‘raﬁwmﬁmwﬁ%ﬁﬁﬁw
T & 91¢ 91 ITP 91 81 aTell STHRT &) Ap1 & fore faar siran &

1. Antibody/ TCIaISl
2. Antibiotic/ Hfdeifdd
3. Antidote/ TdISle

4. Antigen/ PIGSE

Correct Answer :-

. Antidote/ TdlSIc

98) The compound dissolved in water to give a solution of pH lower than

seven is? /9 & A S99 Giffie $I 5id & gieq W) 7 9 $H pH S:
1. Common salt/ HIURU THD

2. Vinegar/ Rar

3. Sugar/ BT

4, Ethanol/ T

Correct Answer :-

« Vinegar/ RRe@r

99) If AABC is an isosceles triangle with .c=90° and AC = 5 cm then AB is:/df¢ AABC T®
gufgarg AYs 8, RIeT ST £6=90° 3R AC = 5 I &, 1 AB T H9|

1.5 cm/ 5 4t

2. 2.5 cm/2.5 94t
3. 10 cm/ 10 IHt
4.5V2 qmysV2 e
Correct Answer :-

o 5V2omy5Y 2 3



The length of a rectangular hall is 5 m more than its breadth. The area of the hall is 750 m2. The

length of the hall is: /{5l MUATER gid B THTS ITD!T TS F 5 Hiex Ut 21 8 T &7hd 750
W2 3| gia B TS [ B |

1.15 m/15 4.
2. 25 m/25 .
3.22.5 m/22.5 .
4,30 m/30 #t

Correct Answer :-

« 30 m/30



